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SUMMATIVE ASSESSMENT - I, 2012
wrfes fag / SOCIAL SCIENCE 551-045

helm - IX/ Class - IX

Frerifta wo= : 3 qoe sifereaw 3te : 90
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General Instructions:
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The question paper has 31 questions in all. All questions are compulsory.

Questions from serial number 1 to 10 are Multiple Choice Questions. Each question
carries 1 mark.

Questions from serial number 11 to 22 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 marks from Geography only. After

completion, attach the map inside your answer book.
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Who stormed the Bastille, the fortress prison during the last years of 18t
century.

(a) Soldiers (b) Peasants

(c) Agitated crowd (d) National Assembly
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Which one of the following was the most revolutionary social reform of the
Jacobin regime ?

(a) abolition of slavery (b) abolition of titles

() abolition of privileges (d) abolition of tithes

T St T kT ey W Sveire 1 WA R SR S W e #7
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The Latitudinal extent influences the duration of the day and night as one moves
from :

(a) South to north (b) East to west
(c) West to east (d) North to south
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River system of an area is termed as :

(a) drainage basin (b) drainage

(©) water divide (d) Lake

foret % 1973 % Afeh T geie 1 Iy fere foman e ?
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(0 il ¥ (d) ST ST fE
A military coup in Chile on 11t September 1973 was led by :
(a) Alberto Bachlet (b) General Jaruzelski
(c) Michelle Bachlet (d)  General Augusto Pinochet
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(a) et wewE (b) e f

(0  TE SR HeEd (d) dfmR

For whose help had President Allende made several policy decisions ?
(a) Party members (b) Family friends

(©) Poor and the workers (d)  Soldiers
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India is called a Republic because :

(a) its head is a monarch (b) its head is an elected one
() its head is nominated (d) its head is a dictator
rere e F A fer e F S fopan s &2
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In which season is wheat grown in Palampur village ?

(a) Rainy season (b) Kharif season

(c) Rabi season (d) Autumn
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What name has been given to the unemployment when people do not find job
during some months of a year ?

(a) Disguised unemployment  (b) Partial unemployment
(c) Seasonal unemployment (d) Rural unemployment
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Infant mortality rate is the death of a child under :

(@) 5 years of age (b) 1 year of age
©) 1 month of age (d) 7 yearsof age
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Describe any three steps taken to improve the condition of factory workers and

peasants in Russia after the Civil War.
319a /OR
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Describe any three inherent defects in the Weimar Constitution that made it vulnerable
to dictatorships.

el Tt 3 e # w0 § Seraifed] qu e & e foreri # i 2 or
I Fifd |
Explain any two differences between the political ideas of liberals and those of

the radicals in Russia in the early 20th century.
319aT JOR
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Explain any three methods adopted by Hitler for educating German youth in the
spirit of National Socialism.
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Explain the significance of the central location of India at the head of Indian
ocean.

femrera ®t 7 TR gEenst % AW fafee qon Rt e sfwen i A faRad
fafay |

Name the three parallel ranges of the Himalaya. Explain any three features of
any one range.

R TEEe i Rl A ferdranedi w1 oo Fif |

Describe any three features of the Indian Desert.

el % wquor 3 forl = ROl o Seera FHITC |

State any three causes of River Pollution ?

R i fow, I it Geve g e B fed § 9 deatee awRl &
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How were the three democratic governments of Allende’s Chile, Walesa's
Poland and Michelle’s Chile different in their approach towards social and
economic matters ? Explain.

wreha i foeel <t ferdoanait 1 samen Fifem )

Explain any three features of Democracy.

= Gfaym w1 ey # 82 FE d= Fro fafa)

Why do we need a constitution ? Give any three reasons.

#fa i 1 a1f 2 WA & I Q) Tl o e st w5 & snfes alet
1 WA Hed e fefen |

What is meant by Green Revolution ? Name any two states which were first to
try out the modern farming methods in India.

afenat =1 u qigfien et wwEl § AR 4 femn st & ? @ dF wre fafan )

Why are women employed in low paid work ? Give three reasons.

A it formfor ¥ wmeea w7 et 1 wE )

Explain the role of health in human capital formation.

wig # Afgensl 1 1791 % afaym F frren #i gf 2 Afeensii & sfam F§ gur @n &
o iR §ERR A I | HAF ar) fH?

Why were women disappointed by the Constitution of 1791 in France ? What
laws did the revolutionary government introduce to improve the lives of
women ?

Wil T A TRe e Ry yehr ww Wit ? "e it A @ A e 92
TSt # gfaened % ufd 3T (wea o) @ famm 42
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1+4=5

2+142=5
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How was the system of Estates in French Society organised ? Who Constituted
the middle ? What were their ideas about privileges in society ?

AFF & e oo it sren Fie | T & e W TR 41 Y9 gan ?

Explain the Lenin’s April thesis’. What was its effect on the party members ?

18 JOR
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What event in history is known as the Holocaust ? How did the world come to
know about the Holocaust ? Explain.

I % a2 e ot o ot ferdranedt ol i)

Describe any five features of the Coastal Plains of India.

et TR o qal H g o o fave § @ ) 7k fafag)

Write any three arguments in favour and two against democracy as a form of
government.

W o G 1 g sl @ SR Fif |

Highlight the salient features of the Constitution of India.

At T ATl AT H1 e i A S # 2 A e wRon fafe

State any five reasons as to why farm labourers are considered poor.

A WA % Hew ) T8 Hife |
Explain the importance of Human Resource.
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(C)  RA F WA 4-um 1 gfeqoray forg
(D)  faew g

(i) Two features (A) (B) is marked on the given political map of India.
Identify these features and with the help of following information write
their names on the lines marked in the map.
(A) Islands group lying close to Malabar coast and Kerala.
(B) Eastern Ghats

(i) Locate and label the following on the same political map of India.
(C)  The southern most point of main land of India.
(D)  Chilka Lake
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Note : The following questions are for the visually impaired candidates only,
in lieu of map Q.No.31.

(31.1) Which islands group is situated near Malabar Coast ?

(31.2) Which boundary of Peninsular Plateau is formed by the Eastern Ghats ?
(31.3) What is the degree of Tropic of Cancer ?

(314) Name the state where western ghats are found ?
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4x1=4

Page 7 of 7




